
Assembly Guide
Version 1.0_240208

precision view
monitor arm



assembly parts

A
Assembled joobie
x 1

B
joobie footrest
(with pre-installed screw)
x 1

B

A

C
joobie footrest screw
(pre-installed)
x 1

Joobie Components Box 1 of 1

assembly parts

A
Upper Arm
x 1

Lower Arm
B

x 1

C
Mounting Base
x 1

D2
Table Clamp Screw
(M8 x 75)
x 1

E2
Grommet Screw
(M8 x 150)
x 1

E1
Grommet
x 1

F
VESA Mount
x 1

G
Rotate Ring
x 1

D1
Table Clamp
x 1

Precision View
Monitor Arm Components

A

B

C

D1

D2

E1

E2

F

G



assembly parts
Precision View
Monitor Arm Tools

H

I

J

K

H
Allen Key
(2.5 x 58mm)
x 1

I
Allen Key
(4 x 70mm)
x 1

J
Allen Key with 
Philip Screwdriver
(5 x 100mm)
x 1

K
Allen Key
(6 x 120mm)
x 1

M-A
M4 X 12

x5

M-B
M5 X 12
5PCS

M-C
D5

4PCS

VESA Mount Tools



monitor arm assembly

1

Designed for Hexon,
compatible with other desks.

 

Prior to attaching the monitor arm, 
carefully inspect the desk to ensure it is 
free of any accessories or objects that 
may obstruct the installation process.

Table Clamp

Option 1

Grommet Mounting

Option 2



monitor arm assembly

C

D2

K

D1

Table Clamp: 
Assemble table clamp

For Hexon desk:
Open the hatch.

Option 1

b

a

Option 1



monitor arm assembly

K

10-50mm

K

C

Turn the Allen Key(K) anti-clockwise 
to release the table clamp.

Option 1

Turn the Allen Key(K) clockwise to 
tighten the table clamp.

Option 1

c

d



monitor arm assembly

� 10mm
(� 3/8”)

10- 50mm

F

K

E

Choose the desired position for the 
monitor arm and drill the tabletop.

Option 2

Assemble Grommet mount.

Option 2

b

a



monitor arm assembly

G

G

The arm can rotate
without stopping.

±180°

±90°

The arm can rotate 180°

A

B

H

Attach both the lower arm (B) and 
upper monitor arms (A).
Secure the arm with Allen Key (H).

2a

Before attaching lower arm (B), install 
rotation ring (G) for the choice of 
180° or 360° rotation.

2 

H

Cable cover 
facing down



monitor arm assembly

J

F

M-A
M-B

M-C

Unlock

Lock

2 pax recommended

Secure the monitor to the VESA Mount 
(F) to the monitor.

3

Slide the assembled VESA Mount (F) 
into the Upper Arm (A) and lock it 
in place.

3a

Too ShortToo long



monitor arm assembly

J

Tension spring adjustment. 
Open the tension spring cover located 
on the Upper Arm (A).

Caution: 
To avoid damage to monitors or mount, 
always keep arm in a horizontal position 
while making adjustments.

Begin by positioning and securely 
holding the arm horizontally,as 
indicated. Seek assistance if needed.

4

4a



monitor arm assembly

Tension spring adjustment. 4b

Caution: Do not over tighten the screws.

To prevent damage to the Tension 
Indicator,
never allow the Red Indicator Line move 
beyond the “ -” and “+” found on the Left 
and Right Side of the tension indicator.

If the arm rises, reduce the tension by 
turning the Allen key counterclockwise 
until it remains in a horizontal position.

If the arm drops, increase the tension 
by turning the Allen key clockwise 
until it maintains a horizontal position.



Monitor Arm assembly

Caution: Do NOT rotate the monitor arms 
to the rear edge of the desk to prevent 

potential instability that may lead 
to tipping.

Organized the cables within the cable 
covers on the monitor arm. Slide to 
remove/attached the cable cover.

5



Monitor Arm assembly

I

N

Screen Tilt
Note: If the display does not stop at 
your desired position, tighten the screws 
as shown.

Screen Rotation
Note: If the display does not stop at 
your desired position, tighten the 
screws as shown.

Fine tuning and maintenance.6



Assembly Guide


